


Table S1. Results of Statistical Analysis 

Figure Groups Statistical test Statistics  p value 
1C Control vs MetS vs MetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 11.942 0.003 
1D Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 18.955 <0.001  
2A Control vs MetS vs MetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 12,784 0,002 
2B Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,14)= 28,116 <0,001 
2C Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,14)= 11,980 <0.001 
2D Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 0,924 0.418 
2E  Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,13)= 4,721 0,029 
3A Control vs MetS vs MetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 11.789 0.003 
3B Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 2.369 0.128 
3C Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 24,197 <0,001  
3D Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 9,608 0.002 
3E Control vs MetS vs MetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 12.538 0.002 
3F Control vs MetS vs MetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 13,053 0.001 
3G Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 24,197 <0,001  
3H Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 52,772 <0,001 
4A Control vs MetS vs MetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 8,180 0.017 
4B Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,12)= 62,291 <0.001 
4C Control vs MetS vs MetS+CAND One Way Analysis of Variance F(2,15)= 15.048 <0.001 
4D Control vs MetS vs MetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 11.380 0.003 
5I EVControl vs EVMetS vs 6-0HDA vs 60HDA+ EVMetS 

VS 60HDA+ EVMetS+CAND 
One Way Analysis of Variance F(4,25)= 32.781 <0.001 

5J Control vs EVControl vs CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 0.363 0.834 
6A Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 12.651 <0.001 
6B Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 90.922 <0.001 
6C Control vs EVControl vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(3,20)= 59.941 <0.001 
6D Control vs EVControl vs EVMetS vs EVMetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(3)= 15.754 0.001 
6E Control vs EVControl vs EVMetS vs EVMetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(3)= 9.025 0.029 
7A   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 6.470 0.009 
7B   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 5.584 0.015 
7C Control vs EVControl vs EVMetS vs EVMetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(3)= 14.820 0.002 
7D Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 18.527 <0.001 
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7E Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 8.013 0.004 
7F Control vs EVControl vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(3,20)= 3.999 0.022 
8A   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 10.692 0.001 
8B   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 5.323 0.018 
8C   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 27.324 0.001 
8D   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 3.982 0.041 
8E   Control vs EVMetS vs EVMetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 8.082 0.018 
8F   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 9.911 0.002 
8G   Control vs EVMetS vs EVMetS+CAND Kruskal-Wallis One Way Analysis of Variance on Ranks H(2)= 9.739 0.008 
8H   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 5.180 0.019 
8I   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,16)= 36.022 <0.001 
8J   Control vs EVMetS vs EVMetS+CAND One Way Analysis of Variance F(2,15)= 13.221 <0.001 
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